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Nc: Q&0 o8t 31835 ™4 (min ™) Ay, Az FEHEO| |5 A=
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A8 (2.1x10* kgf/mm?) - xR 1.875 34
| - LFAFZ=O| X|ACHH 2%t RHE (mm?) XX - XIX| 3.142 9.7
g - XX 3.927 15.1
| = ——d d; - HHAFS 28 (mm) H -y 4730 219
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r: LIAF= 9| H|S (7.85x10'6 kg/mm?3)
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SAEE01o| = FO| X|X| 50 CHet 2220 HES| E=80f 2t Y= 2 LICH
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— GIESENC
L
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I
T
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(1) 2| X|X|&£0 tigt HER|Ze| ==& X| (Z|CHZ)) (unit : um)
=74
Zo| =
6, 8 10 13, 16 25, 30 45, 50
3 | Ogk [N |H|P|N|H|P|N|[H|P|N|H|[P|[N|H|P
- 200 72| 46| 26| 59| 36| 20| 56| 34| 18| 53| 32| 18| 53| 32| 16
200 315 133| 89| 57| 83| 54| 32| 71| 45| 25| 58| 39| 21| 58| 36| 19
315 400 185| 126| 82| 103| 68| 41| 83| 53| 31| 70| 44| 25| 63| 39| 21
400 500 236| 163| 108| 123| 82| 51| 95| 62| 38| 78| 50| 29| 68| 43| 24
500 630 - - - 151|102 65| 112| - - 88| 57| 34| 74| 47| 27
630 800 - - - | 190| 130| 85| - - - 103| 68| 42| 84| 54| 32
(2) %9| X|X| 2 SHOf Cfst X[X| 2 Boio| Xzte (FThZh) (unit : m)
oz Moz =2
N H P
6, 8,10 22 9 6
13, 16,20 27 11 8
25, 30 33 13 9
40, 50 39 16 11
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40, 50 46 19 13
(#5) =9o| Zo|¥ M= (X|CHgh (unit : pm)
AEE =5
=8 N H
HH 74 33 13
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SLF

Tr#
s [0
2 B : S
T—l L2
L

(unit : mm)

ig g ¢D L L1 ¢D1 | PCD ®X oY VA 2 L2 =B
RYUE n
6 SLF6 14 25 6 30 22 34 6.5 4.5 1 7.5 2
8 SLF8 16 27 8 32 24 34 6.5 4.5 15 7.5 2
10 | SLF10 21 33 9 42 32 4.5 8 4 15 | 105 2
13 | SLF13 24 36 9 44 33 4.5 8 4.5 15 11 2
16 | SLFlé6 31 50 10 51 40 4.5 8 6 2 18 2
20 | SLF20 35 56 10 58 45 5.5 9.5 54 2 18 2
25 | SLF25 42 71 13 65 52 5.5 9.5 8 3 26.5 4
30 | SLF30 47 80 13 75 60 6.6 11 8 3 30 4
40 | SLF40 64 100 18 100 82 9 14 12 4 36 4
50 | SLF50 80 125 20 124 102 11 17.5 12 4 46.5 4
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Hrl

M
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[m

of
OH

SLF

(unit : mm)
bd 12845t | 7I2dEET | SN £

S e od1 (ihx (kg (kgf.m) E (kgfm) | (kg)  (kg/m)
=74| 2% ) C | co | o | Cor |MAL| MA2 | 4E |EZZ|52=

SLF6 | 6 _0815 525 | 2 | 137 | 225 | 046 | 076 | 039 | 348 | 004|022 018
SLF8 | 8 _0315 727 | 3 | 137 | 225 | 06 | 099 | 039 | 3.82 |0.05| 04 | 033
SLF10 | 10 _0318 897 | 4 | 285 | 397 | 162 | 225 | 095 | 853 | 01 | 0.6 | 0.51
SLF13 | 13 _0815 1182 | 7 | 396 | 540 | 2.89 | 394 | 15 | 1246|012 1.03|0.88
SLF16 | 16 _0318 1472 | 8 | 545 | 849 | 477 | 743 | 3.71 | 26.09 | 0.23 | 1.56 | 1.25
SLF20 | 20 -og21 1863 | 10 | 724 | 1109 | 79 | 1209 | 553 | 38 | 03 | 244|182
SLF25 | 25 _0321 2343 | 15 | 1003 | 1593 | 21.99 | 43.01 | 10.35 | 68.59 | 0.46 | 3.8 | 2.92
SLF30 | 30 _0825 2853 | 16 | 1160 | 1980 | 30.26 | 62.93 | 15.68 | 93.27 | 0.63 | 5.5 | 3.93
SLF40 | 40 _0825 373 | 20 | 2972 | 4033 |105.37|176.05 | 36.59 |246.34| 14 | 97 | 6.75
SLF50 | 50 _0830 47.05| 26 | 4086 | 5615 |179.89 [304.35|51.58 [428.72| 2.8 | 152 | 114
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SLT

K1

-k

Q j - S
11 2-¢
L

(unit : mm)

(g:; £ - . ] 1 K K1 K2 ?Q = g
HS +0.05/0 Qs n
6 SLT6 14 25 125 2.5 1.2 10.5 1 2
8 SLTS 16 27 135 2.5 1.2 10.5 1.5 2
10 | SLT10 21 33 16.5 3 1.5 13 1.5 2
13 | SLT13 24 36 18 3 1.5 15 1.5 2
16 | SLT16 31 50 25 3.5 2 17.5 2 2
20 | SLT20 35 56 28 4 2.5 29 2 2
25 | SLT25 42 71 35.5 4 2.5 36 3 4
30 | SLT30 47 80 40 4 25 42 3 4
40 | SLT40 64 100 50 6 3.5 52 4 4
50 | SLT50 80 125 62.5 8 4 58 4 4
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Hl
M
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I
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of
OH

SLT

¢d 20 O|&}
HZE AZE
(unit : mm)
o 7123845t | 7|284Ea | @E5{ &2 24

S e od1 (x‘f_’ﬂh* (kg (kgf.m) E (kgfm) | (kg)  (kg/m)
54| 3% ) C Co Cr Cor | MA1 | MA2 | HE | BEE=|E3%
SLT6 6 0 315 5.25 2 137 | 225 | 046 076 | 039 | 348 | 0.02|0.22]0.18
SLT8 8 0 815 7.27 3 137 | 225 0.6 099 | 039 | 382 |002| 04 | 0.33
SLT10 | 10 0 818 8.97 4 285 | 397 | 162 225 | 095 | 853 | 004 | 06 | 051
SLT13 | 13 0 ng 1182 | 7 396 | 540 | 2.89 3.94 15 | 1246 | 0.05| 1.03 | 0.88
SLT16 | 16 0 818 1472 | 8 545 | 849 | 4.77 743 | 371 | 26.09 | 0.13 | 1.56 | 1.25
SLT20 | 20 0 821 1863 | 10 724 | 1109 | 7.9 12.09 | 5.53 38 | 019|244 | 182
SLT25 | 25 0 821 2343 | 15 | 1003 | 1593 | 21.99 | 43.01 1035|6859 | 0.3 | 3.8 | 292
SLT30 | 30 0 325 2853 | 16 | 1160 | 1980 | 30.26 | 62.93 | 1568 | 93.27 | 04 | 55 | 3.93
SLT40 | 40 0 325 373 | 20 | 2972 | 4033 |105.37|176.05| 36.59 |246.34| 0.85 | 9.7 | 6.75
SLT50 | 50 0 830 47.05| 26 | 4086 | 5615 |179.89 |304.35|51.58 [428.72| 1.8 | 152 | 114

BALL SPLINE 15



101) 2ASat0l HES XEL O HE50R Yo|2 25K DHIAL.
SoiA] 270 2, alHIA0] 452 Opy[eto] HETL &4 4 YELC
SEA 25517| W20 RS0 o8 22 L 4+ 9

102) 22820l {ES 75252 Sof

SUICH otk HEZH ZYE ZYES CF8 O Qe okXl ¥ =2 1¥s|of Bhc

2/ E2917H E2tAE KHolojA S0
O

103) YR S22 F57|X] OFYA=2. %ﬁ% = 28 =
2 M= £ =0 4 YAI7| BHELICE X0 t*°J

OFgLITE HES HESISEO &Y
f82 11 Ho|XIS & nekol FAI7| HRZLICE

fot

10.4) o|= &1t A2 mES0| HEO §°'EIX| = oFO{Of gfL|L}. O|2{et =2 0| HEO]
EEH HES F=ut +Ho| kS OjE = 9"*'—|Ef XLt 7|Ef O|=2EO| 20{& 0| oY
= 87 AtHEE 22 AL HEAH S '—ﬂE-‘Ef LEXYE 22l 5+ U=F ofof gfLCh.

ol
=

Hr

EL£ 80° O[S}0I M AFREE MAEYASLICH T0MQ| ALBS HE0| £

10.6) 2EE7I =A52t2 HE WR0| 72 == 280 2HES TF0 Weat 7[s0f =X
E oloZl A Olﬁ|_|[_|.
= =2=—=2 T M- .

107) tsolut 22 E &S S+t FE0M MAE2 T[22 F2[5H0] FA|7| HHE LI

16 Total Linear Motion System



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

